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Question Number : 1 Question Id : 3419797746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Lactose is made up of

@‘5:;&? ) ot emHen BII0.

Options:



Two glucose residues
1 Sotd ?ﬁ;:ﬁ'aé eLa0)eN

Glucose and Galactose
ﬁ;:ﬁaeg N 86%Y)) ﬁ@%g
2.

Glucose and Fructose

| 1SS boto (558

Galactose and Fructose
Ker&E SoBcém @”a&ﬁﬁ
e £2

4

Question Number : 2 Question |d : 3419797747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following are not polymers
& (80D TBE° “‘FOHTY” =B Db

Options:
Proteins

265
Lipids
OD1E)

Polysaccharides
FOFETE

Nucleic acids

B
o585 waren

o



Question Number : 3 Question Id : 3419797748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Digestion and absorption of Carbohydrates, Proteins, Nucleic acids and lipids occurs in
=BG, @85, S3AE elipe Do 9hEe Gy £o Hbck hm vERlorr 5
atorioehob.

Options:
Large intestine

G D

Small intestine

z.

Gall bladder
e lovole)

=

Mouth
(o))

4.

Question Number : 4 Question Id : 3419797749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Study of Lungs is called
#e08800 ©adSo Takw TR
Options:
Palaentology
. 2O aDotred

Pathology

- v o ST



Pleurology
Foeed
=

Gerantology
RotreE

Question Number : 5 Question Id : 3419797750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The trachea is also Called the
(Bigcloviz=itvioi= a0
Options:

Lungs

#2208 en
1

Diaphragm

eJovv OIS

Wind pipe
TOFEEo

Bronchus

razé;’-‘séo

Question Number : 6 Question Id : 3419797751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Actual gas exchange takes place in

repe Se8)E (gas exchange) Q88 exdorvdod

Options:



Trachea

ErBoEm

Diaphragm
&S

Bronchi

«atﬁaﬂ'éo

Alveoli

oo RSEeen

Question Number : 7 Question Id : 3419797752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Match the following
Eob O S8N5G506

1) Blood clotting Enzyme A) Thrombocytes
2) Blood clotting Vitamin B) Thrombokinase
3) Blood clotting Mineral C) Vitamin K
4) Blood clotting Cells D) Calcium
Options:
1-B, 2-C, 3-D, 4-A
1.
5 Ry, 2-C, 3-D, 4-B
1-B, 2-C, 3-D, 4-A

=



1-B, 2-D, 3-C, 4-A

4.

Question Number : 8 Question Id : 3419797753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Blood flows from right atrium in to the right ventricle through a valve called
850 DEEQE Soods H& 2B056°8 & Bartso e (HREF00

Options:

Bicuspid valve

1 & Sarexo

Tricuspid valve
o M= g n
, BS S0

Pulmonary valve

] S}@é&ﬁ&: Baeé0

Semilunar valve

2versd Zaréo
(=)
4

Question Number : 9 Question Id : 3419797754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Heart beat in mammals in intiated at
o505 s Esmrod KK IndeHEos
Options:

Sino-atrial node

e,

Nmﬁgm Keaoad

Atrio - ventricular node
ﬁgsﬂ 25850 Beansy



Bundle of His
] 2088 & =5

Purkinje fibres
) éﬁpé eSodhen

Question Number : 10 Question Id : 3419797755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following is an Anti-diuretic hormone
& Bod T&S° “cirod BovredE” FEHS 28
Options:
Oxytocin

@ﬂéﬁ‘?fﬁ
1

Vasopressin
R R0
=

z.
Angiotensin
SOBTPEAS

=

Renin
IS

4.

Question Number : 11 Question Id : 3419797756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Most of the reabsorption occurs in
5% e o&hlorr JBE a:trHEdod.
Options:
Proximal convoluted tubule
380 HoHPS e¥o

1.



Henle’s loop

T
2.

1er

%ﬁ*‘uo

Distal convoluted tubule
; ST DoR@E eEo

Collecting duct

SSlella st Bvit-lo
4

Question Number : 12 Question Id : 3419797757 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The hormone released more during hunger is
5D J%00H0S° P SERYGh; FOS

Options:
Ghrelin
REN

Motilin
SOOI

Cholecystokinin
SOLRPEIS

Gastric Juice
2388 830

Question Number : 13 Question Id : 3419797758 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Structures of nephron present in the cortex of kidney are
8% Gn) Sewos® eot P EHEmeren

Options:



PCT, Bowman’s capsule, DCT
2B, TS HPE, &8

Glomerulus, Loop of Henle, DCT
BEESRoe Koefjo, TPR Ko &R

z

Loop of Henle, PCT, DCT

_ TR B0, DB, 8BS

Columns of Bertini, PCT, Duct of Bellini
5@&) Jogren, H DO T¥o
4.

Question Number : 14 Question Id : 3419797759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Sliding filament theory of muscle contraction was put forward by
oo $SoB°D0dI “péoh Heodl drroseRy”

Options:

Huxley & Stampfii

FEB B Foh

Huxley & Hanson
THB HBAD FRYS

Bayliss & Starling
ROD AW xpGOR

Gyorgyi & Hanson
g S8 PRI

Question Number : 15 Question Id : 3419797760 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Intercalated discs are the characteristic feature of
“©osS Dorody H$(B8en” B oo, Sogyp ©Fe0
Options:

Skeletal muscle
@;E@; Loito

Smooth muscle
é@eﬁ: Xo&do

Cardiac muscle
. oG Lo&kdo

Ne:rve fibre
& Soéd

Question Number : 16 Question Id : 3419797761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Muscle Fatigue is caused due to
Z088 ootk (Zo8s i) Ko Sy S50

Options:
Lack of myosin in the muscle

KotiboS® LH@rdD w80 éﬁoxﬁtﬁo
1

Oxygen debt in muscle
L0808 edeS wso Sdosto

In effective ratchet mechanism in muscle
208808 o8 58 Bey &%

Accumlation of lactic acid
o388 wio BotiBod® HBhBHRFSE0



Question Number : 17 Question Id : 3419797762 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
This brain area is a routing center for in corsing sense signals
35000R Y DHG) Bk0 O Ind (@roso THoR ToEo -
Options:
Cerebellium
JBBOCHO

Brain stem

_ = i

Thalamus

GRIPEAES

Spinal Cord

o

Ejgjéﬁ e

&

Question Number : 18 Question Id : 3419797763 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Principal neurotransmitter involved in transmission of nerve impulse in both vertebrates
& Invertebrates

$ET0oren HBc wiThsed T8 (HSPETR8 :uée'aaﬁbcﬁ:; Sogy ©farsrto

Options:

GABA

B8

Glycine
fotSi

Acetyl choline
WBS =0T



Seratonin
BT

4

Question Number : 19 Question Id : 3419797764 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following is called Fight or Fight hormone
& (Bod =8S° “ wok R FES
Options:
Epinephrine
. LR

Nor-Epinephrine
, T0 OIBR

Dopamine
. E5DS

Acetyl Choline
, BS 5°03

Question Number : 20 Question Id : 3419797765 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Largest endocrine gland in the body
$0508° &Y odEFSE (o

Options:

Pituitary
SHoR Ked

i

Thyroid
gorand (o8
2



Pancreas
£ Kod

Pineal gland
$209S (508

4

Question Number : 21 Question Id : 3419797766 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Leydig cells of testes secrete
Sosre ) D&R Sere EoSER FEIS

Options:

Estradiol
1 éa@?&mwé

Progesterone
Loy oS

Testosterone
ST
BOED

Oxytocin
©8)5°D

Question Number : 22 Question Id : 3419797767 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Cushings syndrome is caused due to

Hhof) LoEDDH Ko Swerseseso

Options:



Hyposecretion of Cortisol
:ﬂgn:ﬁef @eﬁijéoﬁ

Hypersecretion of Cortisol
TPrS ©RSES

Hyposecretion of Thyroxine
Fod S w8

Hyposecretion of Thyroxine
Poed)S whF S8
4.

Question Number : 23 Question Id : 3419797768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The hormone which is not secreted by the anterior pituitary gland
I8, eareped (KofE (HNOBWED FBYS

Options:

Growth hormone
2835 ﬁ&*@ﬁ

Prolactin
EPersS

Leutinizing hormone
erBIBOR FEYS

Vasopressin
TR (2R

Question Number : 24 Question Id : 3419797769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



In marine birds and reptiles which glands are responsible for the removal of excess
salts

S&w(ed Shen b ﬁ&ﬁ@&@@ ©EhE ool Sﬁgoaﬁédﬁw (alel=]
Options:

Chloride cells
&BE Leren
1.

Salt glands
; &S (ogoen

Green glands
(S (Kokoen

3

All the options
o) SRR
4,

Question Number : 25 Question Id : 3419797770 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The enzyme isolated and crystallized by James summer is
2R $5pfs 3% Dohns, HBELBoTHES JoBD
Options:

Catalase
BesE

Urea
CHRBEE

Lysosome
SRS

Lipase
o



Question Number : 26 Question Id : 3419797771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Match the following
Bod =& 3800han

1) Vitamin A A) Pyramidine
eV - Falelmionts!

2) Vitamin B2 B) Phylloguinone
DS - H2 28-S

3) Vitamin B6 C) Retinol
eI - £6 B8>S

4) Vitamin K D) Riboflavin
DS - B BS°aRDS

Options:

1 1-B, 2-C, 3-A, 4-D

5 o, 2-D, 3-C, 4-B

] 1-C, 2-A, 3-D, 4-B

) 1-C, 2-B, 3-A, 4-B

Question Number : 27 Question Id : 3419797772 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A: Glycolysis in erythrocytes leads to lactate production

($80% : 88 Berod® Gooodt 58 )88 ooéiob.

R : Mitochondria the centers for aerobic oxidation are absent
S0 : P To@airen, JBDE elyEsn Jeren solS



Options:

A s true, R is false
A SBGH8, R S5y

Als true,R is correct explanation of A
A 58338, R 636 A% 380 D8
2
A'is true, R is not correct explanation of A
A KSBTH6, R 938 A% 9838 D8 5%

o

Ais flase, R is true
ASap, R S0GHI6
4.

Question Number : 28 Question Id : 3419797773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Number of ATP molecules produced in the complete oxidation of glucose molecule is

e KBS o o @é{géeﬁm ToBS 68 odiy ATP mdew JQ)

Options:

32 ATP
1.

, 34 ATP

] 36 ATP

, S8ATP

Question Number : 29 Question Id : 3419797774 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The actual catalytic site for converting ADP & Pl to ATP is
ADP &80 PIR ATPT Sr9e-R8 Ko oy 6@)8% Yoo

Options:



Fo (base piece)

F, (head piece)

2

. both Fo-F,

FAD

4.

Question Number : 30 Question Id : 3419797775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Von Gierke's disease is associated with deficiency of which enzyme
TRNO) 2y O T STHoWKo DY Benksod

Options:
Liver glucose-6-phosphatase

TBDoSR KEEE - 6- FHDE
1

Liver Phosphorylase
>B0Ho&ED &@‘i}&:éﬁ

Muscle phosphorylase
BoiB0&*D FRHBES

Lysosomal glucosidase
BP0 KPS

Question Number : 31 Question Id : 3419797776 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The final product of human purine degradation is

SrSHVS” TR wrsdteo Sy DHBedy DB0 agBLr0B Swrbo

Options:



/- amino butyrate
3 oS o 2o%BoS
1.
Uric acid
. 0SPBE o

Hypoxanthine
etk lelnS
3.

Guanine
S
4

Question Number : 32 Question Id : 3419797777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The formation of the antigen with which the antibody binds is called

@ﬁa’a’woée mo&aéé}c'ﬁoa ESLEESIFIvate

Options:
Paratope

SPoesth
1.

Hexatope

2o &S
= 57,

Epitope
, V0D

Mesotope
) SoRPeS

Question Number : 33 Question Id : 3419797778 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0

The first antibody to appear in the primary immune response is
(5 BKITEE 0BoHE® ¥0%H0T IS (HaERFo

Options:

Ig G

1

Question Number : 34 Question Id : 3419797779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Maturation site of T - cells is at
T - Zepen H0IEE Totd Ko

Options:
Bone marrow

Question Number : 35 Question Id : 3419797780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The cells which gets affected in HIV-AIDS patients is
56 [ﬁ‘%@é% ®) BereR) (2D5rN0 Wr)eod
Options:

TH cells
Jiz

] T{; cells

B-cells
=k

TH and TC cells
4.

Question Number : 36 Question Id : 3419797781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Macrophages found in liver is

sB0H0oS° ¥0%0T SrETEen

Options:

Kupffer cells

ﬁa’::q:E Bezeer

Microglial cells
DEACT® Beren

Meseglial cells

D DSACT Beren

Monocytes

p S e

Question Number : 37 Question Id : 3419797782 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The stem cells capable of giving rise to total organism is called
FBrow £OQ DEBHON Swreeren

Options:

Pleuripotent
) T ﬁ“aﬁ}ggj
Totiopotent
ﬁiﬁ;ﬁ%}egao

Unipotent
s ﬁﬂ&ﬁago

Multipotent
DF0E ﬁu&ﬁ:@o

Question Number : 38 Question Id : 3419797783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Producing transgenic animals require transformation of
Erx) 205 20hHe aB)88 OIITDI HORGS
Options:
Eggs or embroys
5 Bor DS
1.
Stem cells
D Beren

z.

Red blood cells

B BE Beaeen
3



All are correct
IR BTN
SR :bo‘ B

Question Number : 39 Question Id : 3419797784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Plasmids that integrate in to bacterial chromosome are called
g0 G EarEtins’s apfod edlorso Sowngs

Options:

Epitoper

, DT R

Paratopes
FoEFD

Episomes

: AH&H

All the options

©) @%5{3
4. '

Question Number : 40 Question Id : 3419797785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

To isolate plasmids bacterial cells are treated with to dissolve cell wall
Fpfe w;é&cﬁﬁ Zeme $008 BT RLRPE Bredhiio ZoR0SERE SSErhoL SRPaDRo

Options:

EDTA
; EDTA

Propylene
ErLOS
2.



Lipase
SRE

T B

CaCl,
CaCl,

4.

Question Number : 41 Question Id : 3419797786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is not an Echiodermata larval form

& (Bod =& E:E—ﬁﬁé&:ﬂ o), ooo, 20 b
Options:

Bipinnaria

BL B

1

Brachiolaria

[lelonnlalelonns
Z.

Phyllosoma
SRS
3.

Crinoidea
ES°&ose

4

Question Number : 42 Question Id : 3419797787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Open type of circulation is seen in
DHS BY (5500 IES° KEosH:W)

Options:

Annelids
) OO



Molluscs

Inoae
= o

Vertebrates
- ¥ EoTeen

Arthropods
@E&f&?ﬁaﬂ

4.

Question Number : 43 Question Id : 3419797788 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A Sponge can be distinguished by the presence of
QoEten & (Bod Bere Troe EMTEsd)

Options:

Pinacocytes & Choanocytes
2rE ey HB TS en

Nemotocysts & Chidocytes
QLS RRY 0BG DG DEY

Tentacles & Setae
Bode) HBED 1B

Coelenteron & Tentacles
5 BotTeD SHBasn Eo@&e%

Question Number : 44 Question Id : 3419797789 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Peripatus is the connecting link between

05RO & Bod SEwedd eddorrs G Nr8od

Options:



Mollusca & Arthropoda
Swerr), HBASD @«E’ESS?JEW

1.

Annelida & Arthopoda
w0 SHd5® @Ea,f‘éﬁﬁmﬂ

i

Annelida & Mollusca
] 0D Bk Ea:@ﬁ“;

Arthopoda & Echinodermata
@5@%@‘5{? $0805%0 JESTOR

4

Question Number : 45 Question Id : 3419797790 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Second largest phylum in animal kingdom
20 (Freros® Bokd ©8Y S¥o
Options:

Mollusca

RO
1. =

Annelida
@O

Arthopoda
@aﬁsﬁﬁaﬂ

Protozoa
BB



Question Number : 46 Question Id : 3419797791 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Torsion is seen in which class of Mollusca
Ivos™ O $5586° Torsion oF (HBH B35H0d

Options:

Scaphopoda
) RPSEee

Gastropoda
ai(Geicei~y

Pelecypoda
2808

Cephalopoda
PSR

Question Number : 47 Question Id : 3419797792 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Match the following
Bol EHY 2ddtohdn

1) Platyhelminthes A) Nephridia

FETO06T &85
2) Nematoda B) Flame cells
QS 2 Sezeen
3) Annelida C) Rennet cells
w0 oS Beaeen

4) Arthropoda D) Green glands

vy 88 (Kozhen
Options:
 1-A, 2B, 3-C, 4-D
; 1-A, 2-D, 3-C, 4-B
1-B, 2-A, 3-C, 4-D
3.
. 1-B, 2-C, 3-A, 4-D

Question Number : 48 Question Id : 3419797793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The common name of Fasciola hepatica is called
LTrer Trards o) TRt 950
Options:

Liver fluke
O%8 B

1



Blood fluke
286 3p8

2.

Flat worm
0F B0
3 L

Ring worm
’ 8oh =™

Question Number : 49 Question Id : 3419797794 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Number of cranial nerves in Petromyzon
S RerRS° Ko Bre TotHe Dogy
Options:
10 pairs
10 exéen
s
8 pairs
8 ezeden
Z.

11 pairs
- 11 esedew

6 pairs
, 6 eseden

Question Number : 50 Question Id : 3419797795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Notochord is restricted to tail of larva in

SEéS“Smg O3 oo %ﬂwé’s &% rrQ8 S50 z0h e 05008

Options:



Cephalochordata
s’ '-:-F@i:ﬂ

Cyclostomata
2R Der
e

Urochordata
{:ﬁ:}ﬁﬁ%ﬂé@ﬂ

Vertebrata
BEIKoen

Question Number : 51 Question Id : 3419797796 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Air bladder is modified into lungs in
HEedabo S (Bod TOS° dehBaKerT SrE)Tosos.
Options:
Holocephali
| FE0

Dipnoi fishes
Eard Bden

Elasmobranchs
Lo vdelcy

Holostei

FEE,
4. =

Question Number : 52 Question Id : 3419797797 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Mkigration of fishes from marine water to fresh water is called
S0 W) A Kol THD ABEE S dy K8

Options:
Catadromous
BéreRon

Potamodromous
PR (00

Oceanodromous
5,205 S D

Anadromous
WTE(EEER

Question Number : 53 Question Id : 3419797798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The amphibians which carry eggs in their vocal sacs till the eggs are developed into

larvae
& Bod agohdcre® Do 89 gVl @U:%;oaﬁ S058% E:é;"‘ﬁéoﬁ‘? FBH0d
Options:

Rhinoderma

65561:%

Hyla
SPTP

Rhacophorus
oeEREED

Alytes
OB



Question Number : 54 Question Id : 3419797799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Which of the following reptile has completely 4 chambered heart
& Bod I8P RreS® BTG Trenid Ko Hieho Sob
Options:

Snakes
aPS0en

Croicodiles
R0

Lizards
)

Chameleons
E2HOITI

Question Number : 55 Question Id : 3419797800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Syrinx is the “voice box” seen in
200E) HBS° “voice box” e 33008
Options:
Fishes

oD



Amphibians
achaTreD

Question Number : 56 Question Id : 3419797801 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Dental formula of adult man is
SFBred SPSHIS® Kod daesdo
Options:
2023
0

I~

=
i |

=y
. F

-2
—
-2
Lad

fad
—
]
(Y]

-2
b
L4l
Lad

-2
p—
T4l
L]

-2
[o—
-2
Tl

| ]
[a—
-2
fad

Question Number : 57 Question Id : 3419797802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Bergman's rule is associated with
DPEPS Aaho BIY Db,

Options:
Organs size

@Gé;g?ﬁn@ D830
-
Body size

Qo 2880
2.



Pigmentation
3 S
>,

Morphology

8D FPR0
4 %5

Question Number : 58 Question Id : 3419797803 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Ecological pyramids are designed by
DBerdS LODERD BHFR) TRIE
Options:

Tansley
| &Y

Charles Elton

PSR 2OR
g, L

Question Number : 59 Question Id : 3419797804 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The Organisms which cannot tolerate wide range of fluctuations in temperature are

called
ﬁ@@é@s “OR Sty oo éé;g&{'éc% 220&HPOD S DHore Henard
Options:

Eurythermal
cfo:vécﬁééﬁ

1



Euryhaline
, OrOTFSS

Stenothermal
OF 58S

3.

Stenohaline
2Sr8S

4

Question Number : 60 Question Id : 3419797805 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The process of conversion of ammonia into nitrates is known as
IR JEeRre 79y BB
Options:

Nitrification

SBESS

Ammonification
@5}0&@&3&5

Denitrification
E3BEAS

Deammonification
&@E‘aﬂéﬁjﬁﬁﬂﬁ

Question Number : 61 Question Id : 3419797806 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Itai - Itai is the disease caused due to which metal
2P - DEFEDH O d}?ﬁgéﬁfa Se8E90

Options:



Arsenic

NE
. @aﬂjau

Mercury
o8nd

Lead
86

4.

Question Number : 62 Question Id : 3419797807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
World Environment day is celebrate on

BH0s HorHdes B &0

Options:
June 4
e 4

June 5
oo™ H

July 4
g 4

June 28
oD 28

Question Number : 63 Question Id : 3419797808 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The animal protected in Kaziranga National Park is
Z28ore e80% &S Jo8Bosng s
Options:
Tiger
1. z;;.;g}
Indian Bison

208003 BIS
2.

Lion
= W00
Rhinoceros
| a:ugé:é‘jﬁo

4

Question Number : 64 Question Id : 3419797809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Ghana Bird Sanctury is located at

T VPO wFceseo B)E God

Options:
Karnataka
Loeeas

o=

Rajasthan
Dﬁmﬁ'«gE

Kerala
felel™]

Haryana
PO



Question Number : 65 Question Id : 3419797810 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Wallace line separates which of the following Geographical realms
& (Bod TREE orereds® Wallace line 3 5320889

Options:
Ethopian & Oriental
2E°HOHT HoBSD 2.80HotS

1

Oriental & Australian
5,800 B3 @@@Cﬁﬁ

z.

Neotropical & Nearctic
ATE"HES 50805 Jed)BE

3

Nearctic & Oriental
Qed)BE 58k £.80%06S

4

Question Number : 66 Question Id : 3419797811 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Who first divided the zoogeographic realms

FHDE ool Ikt DFRoDS RIS
Options:

Sclater

68
i
Wallace
TED
2.

Darlington

. *OORR



Darwin
i SN

(=¥

Question Number : 67 Question Id : 3419797812 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following Country is in Oriental region
@83 (Frosos® a)Bdo

Options:

North America
, a8l odoe

Africa

LlEsies
2| &

India
sSERS0
=4

Brazil
Bes

4

Question Number : 68 Question Id : 3419797813 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Cotyledonary placenta is seen in
AOELD orcind <3 Bod a>HE8 Tobdh
Options:

Pig

. 08



Question Number : 69 Question Id : 3419797814 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Centrolecithal egga are observed in
gD Leodd (50 Ko i & (Bod TEE” HoSBN)

Options:

Birds

J"‘*w

Amphioxus
SoHOIRER
=
Reptiles
J58yaren

Question Number : 70 Question Id : 3419797815 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Number of chromosomes inherited from father to the offspring is

Sold Hod HEH JoEod ETrE Swe Sogy

Options:



26

46

z.

23

o

28

4.

Question Number : 71 Question Id : 3419797816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
The placenta of rabbit is
%050 cﬂaﬁg O & 8°08 Tohdd
Options:
Epithelioo - Chorial
AEOTe - TBCHS

Syndesmo-Chorial
AGRY) - EBahS

Haemo-Endothelial
53 - o8 EDHS

o

Haemo-Chorial
3 - FBeHS

Question Number : 72 Question Id : 3419797817 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The type of Cleavage found in frog is

= oj@efa‘s 23 DBoTeD

Options:



Ablastic

aeFE
el W]

Meroblastic
&Y

Diploblastic
&Pt

=

Holoblastic
233'865:;';%5

4

Question Number : 73 Question Id : 3419797818 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Identify the correct one regarding Chargaff's rule

85 0D ©HIB0LH

Options:

| A+T=G+C
| A+G=C+T
_ A+U=T+C

, C+A=G+U

Question Number : 74 Question Id : 3419797819 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following is konwn as Soluble RNA
& Bod T8&° reymnd RNA 26

Options:

1 m RNA



r RNA

2.

hn RNA

3

tRNA
4,

Question Number : 75 Question Id : 3419797820 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Replacement of Purine by a pyrimidine and Pyrimidine by a Purine is called

OS] LEWEIT, HOWES I §58 X TR HXordd
Options:

Transition

HBDBS

1

Frame Shift mutations
&S 5} egpsgTe

Transversion
@a’:ﬁ@ SenDHH
=,

Non-sense mutations
R I]) B8PS

Question Number : 76 Question Id : 3419797821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The number of Hydrogen bonds preset between Cytosine and Guanine molecules is

eSS HBoHe MR HoFKe el vogre Jogy

Options:

One



Question Number : 77 Question Id : 3419797822 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is the smallest cell-organelle

& Bod 8" ©&AY) SemoRo

Options:
Lysosomes

SRS e
1.

Peroxisomes
chﬁﬂnjﬁ‘?mw
2.

Mitochondria
Dé3Poo|Bose

&

Ribosomes

BE S Swen
4.

Question Number : 78 Question Id : 3419797823 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The cell-organelle which contains Hydrolytic enzymes

TPE"BAE DoBdmen Ko Serordn

Options:



Ribosomes
BS & Swen

Lysosomes
BRAE e

Oxysomes
o S wen

Peroxisomes

i‘aoﬁ&n}ﬁ‘mw

Question Number : 79 Question Id : 3419797824 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the events of cell-cycle in proper order
Xe0 SEoS®R & (Bod T @@éc&@éﬁ CEsvieela

Options:
Mitosis = G,-phase =»G,-phase >S-phase

¢

eSS - ﬁg—ﬁﬁ—} ﬁl—ﬁﬁ > D -E

G,-phase —=Mitosis =G, -phase =S-phase

2 -Hf > DI ﬁl—fpg = D -8

G,-phase »S-phase =G, -phase > Mitosis

2 -8 > B - D > & HE SBORS

G,-phase =G, -phase =S-phase ->Mitosis

2 58> & BE - 35 - D8 Szens



Question Number : 80 Question Id : 3419797825 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Balbianic rings are characteristics feature of
w%cﬁﬁﬁﬁj Secirer HBE aociron

Options:

Heterosomes
ET&&*@S%

1
Lysosomes
SRS S

Lampbrush Chromosomes
oDPR (B RrE swen

Ploytene Chromosomes
FOAS E R Swen

Question Number : 81 Question Id : 3419797826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

m RNA is found attached with
m RNA &roedesorr & Seroicnd® 202 500508
Options:
Golgibody
e o)es0
1.

Mitochondria
P Chjgerlellatovos

2



Ribosomes
: B & Swen

Nucleus
o550

4

Question Number : 82 Question Id : 3419797827 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Cell Theory in plants was proposed by
Eearrosel) IS (H8ar80H08

Options:
Schleiden & Schwann

AT DB LS

Rudolf Virchow
éawe% 3}65;

Schwann
Frd
-]

Schleiden
288

Question Number : 83 Question Id : 3419797828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Barrbodies form as Drumstick body in
%) %ot Biro BB MBS wrb BiFen DOE® &SI

Options:



Acidophils of a woman

e :
Qo ©BEHS

Acidophils of a man
DO REHS)

Neutrophils of a man
HEe St HS)

Neutrophils of a woman
Ro SepEsHd)

Question Number : 84 Question Id : 3419797829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The number of barrbodies in a female is’
Reo&® =5 Brswe Sogyg

Options:
One
2,88

Two
» 00D

Three

Question Number : 85 Question Id : 3419797830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Klinefelter syndrome’s karyotype is
BS Y0 WE S s, 5658

Options:

_ 44.XY

44 XXY

2

. 44, XXX

46, XY
4,

Question Number : 86 Question Id : 3419797831 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
The mutation in which entire function is lost is know as
D Iwd) aSBdGTen & Ewd) Ingo B &S eraw.
Options:

Leaky mutation
1 OF 6088

Induced mutation
G00E 68058
2.

Null mutations
56 B8PSETen

=

Spontaneous mutation
ARLYNE SEBSBT e

4

Question Number : 87 Question Id : 3419797832 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The XY-system of sex determination is seen in
XY - 8o Dok dozdes DBE SrBSD)

Options:
Grasshoppers

APQeR0en

Snakes
aPS0en

Mammals

éﬁmﬁm
z,

Birds

45
4, Lﬁ'}w

Question Number : 88 Question Id : 3419797833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

The formula for trisomy is
BB ) Sov(go

Options:

1.2n+2

2_2n+1

2n-1

3.

2n-2

4.

Question Number : 89 Question Id : 3419797834 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which of the following is konwn as "Modern Synthetic Theory of Evolution’
& (Bob BS° BID “ordldE L5V J0Z:s VGPOS0” WO
Options:

Darwinism
1 Gﬂ&;SﬁS:-

Lamarckism
o8
=z, L=

Neo-Darwinism

. DT - mﬂ&;ﬁﬁ&

Neo-Lamarckism
L A& - @éﬁ@;ﬁﬁ}

Question Number : 90 Question Id : 3419797835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Biological rhythms showing a periodicity of about 24 hours is called

24 Kove BRZY; HHEE 28N Ldecheod Dbotrt

Options:

Photoperiodism
, T08 el e

Circadian rhyrhms
STRCHS wuDHen

Circalunar rhythms

ﬁcﬂéwamg - ea%en

Circanular rhythms

ﬁ@l@é@g e 3Den
4 G



Question Number : 91 Question Id : 3419797836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The Scientist and the Organism in which classical conditioning experiments are carried
TR0 o (BArTred TS @@&;ﬂﬁ, BB 230805

Options:

Timbergen, Rat
Somb B, e

lvan Pavlov, Dog

VTR FIVD, LY

A.G. Tansley, Horse
2.2 PV, Ko

Odum, Sheep
8,55, A

Question Number : 92 Question Id : 3419797837 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

The interaction in which an individual gives up or sacrifices some of its reproductive
potentials to benefit another individual is called
o8 & 83 (BEE)8 JorrSH HEE £ Y aderedS DBV sxKo TabEo

Options:
Agnostic
o, =
Territory
, BBwd

Hierarchy

)
z =



Altruism

=/ Pblevalile
o] (%)

Question Number : 93 Question Id : 3419797838 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Study of Animal Behaviour is called
2308 (SRS wELavdo DohoseRo
Options:

Ethology

: seed

Gerontoloy
, Bdoéred

Thanatology
; el

Zoology

=
oFIresE

4.

Question Number : 94 Question Id : 3419797839 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The Varions stages of Evolution in order

HBeEoSR BFoRD EHIE8SE° w0k

Options:

Coenozoic— Palaeozoic—=Proterozoic = Archaeozoic = Mesozoic

HSFeronE _, HOEFronE _, (@88=ons w8 Brerans _, ofFeront

Archaeozoic—=Proterozoic—=Palaeozoic—=Mesozoic—=Coenozoic

, SO E S@r&8°ront d0ndTBrront 2HRfronE 45 mront



Proterozoic = Palaeozoic =Coenozoic =2 Archaeozoic =Mesozoic
&8 eronE 2 00Tt 25 ot et Freront >&oRfrons
=,

Proterozoic—=Palaeozoic—>Archaeozoic—> —=Mesozoic—=Coenozoic

&8 zanE > HOBreront 2ed)@rerant > oRferonE 0T mrans
4

Question Number : 95 Question Id : 3419797840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Natural selection is well documented by

($5)8 SBeeo S Eobd HED T (%G Sokod

Options:

Protective colouration
. 888 Sorvd

Industrial melaism

FO(T0E TEhesro
Z.

Speciation

OO ad8

5

Sewall wright effect

Haed BE (Herdo
4

Question Number : 96 Question Id : 3419797841 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is a post - zygotic reproductive isolation

& Bod BE° Jocmdle HBOSES Greirtes

Options:



Ecological isolation
Eord8es DNES

Mechanical isolation
aSro(@E DRES

Hybrid sterility
Q088 dotgEro

Gametic isolation
Besles DRES

Question Number : 97 Question Id : 3419797842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The term random Genetic drift is also called as

2y DEFDID S Desore Dersdd

Options:
Gounders effect

%éﬁ £He Derdo
a

Bottleneck effect
wross [ r8SIE (Hordo

i

Sewall Wright effect

SHard BES (Hgrdo
=

Muller effect
i S086 (HeeRo

Question Number : 98 Question Id : 3419797843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which of the following is Bio - degradable pollutant

£53per ey SoE0

Options:
Asbestos
@?\%@;ﬁ

Plastic
s
~oea

Porcelene
@56&@)5

Sewage
S0

Question Number : 99 Question Id : 3419797844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Number of air sacs present in the Respiratory system of Birds

$Ho8® otz Doy
Options:

8
1 el

Question Number : 100 Question Id : 3419797845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Which of the following are polymorphic cell oganelles
& Bod >HBE® nFoErD Seroiiso 8

Options:
Lysosomes

BRAE Soen

Chloroplast
FBS0D

Mitochondria
Do Bese

Nucleus
ZoS¥o



